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SECTION A: The restaurant
Answer all questions in this section.
Write your answers in the spaces provided.

i 1 Mr Chopra is the manager of a restaurant,
On Saturday he needs people working at these times.

| ~ — - I — —
| Time Number of people needed
| e I — 4
| 1100 - 1500 3
| 1800 - 2300 3
| 2300 - 2400 2
Five people work on Saturday.
| The chart below shows the number of hours each of them can work.
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People who work more than 5 hours must have their hours split into two parts.
Each part must be at least 2 hours.
People who work 5 hours or less never have split hours.

(@) Plan the staff rota for Mr Chopra.
Remember to check your answer. (3)
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Complete the rota on the next page.




; Tick () the boxes to show the hours when people are working.
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Mr Chopra wants to employ a delivery driver for 20 hours per week.
He needs the driver for all 52 weeks in the year.

Mr Chopra is going to pay the driver £6.34 per hour.
He has a budget of £7000 to pay the driver for one year.

M

Show why you think this. {2}

. = - ¢ : —
[(b) Is £7000 enough to pay the driver for one year?

Use the box below to show clearly how you get your answer,
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2 The restaurant uses 98 kg to 112 kg of rice each week,

Mr Chopra wants to buy the rice for the next 4 weeks.
He can buy the rice from two different suppliers.

Sharma wholesalers Khan bulk buy
Rice Rice
20 kg bags 25 kg bags
£31.99 each bag £43.95 each bag

Mr Chopra is going to buy all the rice from one supplier.
He wants to pay the cheapest total price for the rice,

Which supplier should Mr Chopra buy the rice from?
What is the total cost? Show how you have checked your answer.
\-_’é .

Use the box below to show clearly how you get your answer.
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... (Total for Question 2 is 6 marks)
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3 Mr Chopra has to prepare a report for a meeting.

N o TP EP R SD

The table shows his profit from sit in meals and from take away meals for each of the
last three years.

S;t in meals T;ke away-r-n_eals
B _ profit(£! o profit (£) ]
2010 17200 10500
2011__-” ” 19100 ) —1_"1120-(;M"-_—
"‘“2012 18900 o 13900 o

Mr Chopra needs to interpret and compare this information for the meeting.

{a) Write two statements for Mr Chopra. ]
)

Write your statements in the box below.

O He makes mere dn o :
%mﬁm%“ﬁzé“ g o s

O A fror baka Awzvy have vnorensed each
L

~

Mr Chopra wants to display the information about the amount of profit in each of the
last three years.

(b) Which of the graphs or charts on page 7 could Mr Chopra use to show the J
‘ {2)

amount of profit in each of the last three years?

Tick (v) all the graphs or charts which are suitable in the boxes below.
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A Profit in last 3 years
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SECTION B: The dining room
Answer all questions in this section.
Write your answers in the spaces provided.

i

I 4 James is going to cover his dining room floor with laminate flooring.
i The dining room floor is 3.6 m by 4.8 m.
|
I

48m

Diagram NOT
accurately drawn

z . 'l
36m 3 2 '

The laminate flooring is sold in packs.

Each pack has 8 pieces of laminate. I 200 mm
Each piece is 1200 mm by 200 mm. >

1200 mm
James buys 10 packs.

( Does James have enough laminate flooring to cover the dining room floor?
(3)
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Use the box below to show ciearly how you get your answer.
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ey (Total for Question 4 is 5 marks)
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' 5 James wants new ceiling lights for the dining room,

S T LRRRE L Serreree—
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He finds a formula to work out the amount of light he needs for the room.

A=25LW

A =the amount of light (watts)
L =thelength of the room (m}
W = the width of the room {m)

The dining room has a length of 4.8 m and a width of 3.6 m.

James finds a ceiling light that he likes.
Each ceiling light provides 180 watts of light.

(@) How many of these ceiling lights does James need for the dining room? ]
()

Use the box below to show clearly how you get your answer.
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James chooses new dining room furniture. '

The normal price was £699
The furniture shop advert says ‘up to 70% off!

The sale price is £249

James works out he got less than 70% off.

i {b) Is James correct?
Show why you think this, (3}

Use the box below to show clearly how you get your answer.
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(Total for Question 5 is 7 marks)
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6 James invites some friends for a meal in his new dining room.
He has this recipe for lentil stew for 4 people.

Lentil Stew
Serves 4 people

150 g mushrooms

250 g lentils

8 cherry tomatoes

1.2 litres vegetable stock
1 carrot

1 onion

1 turnip

Herbs Yo taste

James has 600 g of lentils and 22 cherry tomatoes.
He knows he has enough of all the other ingredients.

James wants to make enough lentil stew for 10 people.

LDoes James have enough lentils and enough cherry tomatoes to make
(4) I

lentil stew for 10 people?

Use the box below to show clearly how you get your answer.
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_(Total for Question 6 is 4 marks)
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SECTION C: Tote bags
Answer all questions in this section.

Write your answers in the spaces provided.

e

7 Mel designs and makes tote bags.

The material she uses is 148 cm wide.
She needs to cut pieces of the material 14 inches wide.

148 cm

h 4

F

14 inches

F
v

Diagrams NOT
\//— accurately drawn

Mel wants to know how many pieces she can cut across the width of the material.
i

i Use 1inch =2.54 cm j

-
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.( How many pieces can Mel cut across the width of material?
l Show a check for your answer,
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Use the box below to show clearly how you get your answer and to show your check.

)
|
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.. (Total for Question 7 is 4 marks}
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8 Mel wants a loan from the bank.

She shows these sales figures to the bank manager.

Quarter 1 Quarter 2 Quarter 3 ! Quarter 4
Jul - Sep Oct Dec 7 Jan-Mar Apr—Jun
E £13800 £14200 £14900
r'1 L i Lt
The bank manager says
f I need to see your sales figures for a whole year. I\R
I' '|

You can have the loan if your mean sales are £14500 or |
\more per quarter over the whole year. /

!
L

Mel has to work out what her sales figure for Quarter 4 needs to be.

((a) What are the minimum sales that Mel needs in Quarter 4 to get the loan?
(2} '

i

Use the box below to show clearly how you get your answer.
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Mel makes notes about what she has to do on Friday.

Start work 9.40am |
Make tote bags 3% hours |

I
|
\ Order supplies 20 minutes I
Lunch 45 minutes

Press and pack 8 bags (10 minutes per bag)

Must finish by 15.30

. - [ ]
((b) Does Mel have enough time to do everything on Friday? |
(1)

_J, Use the box below to show clearly how you get your answer.
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__(Total for Question 8 is 7 marks)
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9 Mel charges £35 for each tote bag.

She wants to start selling her tote bags in America.
The price of the same type of tote bag in America is $59

The exchange rate is £1.00 = $1.61

Mel thinks her tote bags are cheaper than the bags in America.

- S —
(@) Is Mel correct?
Show why you think this. (3)

Use the box below to show clearly how you get your answer.
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Mel decides to make mini tote bags.
She is going to put the mini tote bags in boxaes.

Mel plans to design a box in the shape of a cuboid.
She needs a 3D drawing of the box.

The box will be 7 inches by 5 inches by 2 inches.

(b) Make an isometric drawing of the box.
Remember to use the key. (2)

Use the isometric paper below for your 3D drawing.

Key: isa cube 1inch by 1inch by 1 inch

(Total for Question 9 is 5 marks)

TOTAL FOR PAPER IS 48 MARKS
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